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QUESTION 1

A table is in Third Normal Form if it is already in Second Normal Form, plus: 

A. All attributes are determined only by the primary key 

B. All attributes are determined by all segments of the primary key 

C. All foreign keys are determined by the primary key 

D. All surrogate keys are determined by the primary key 

Correct Answer: A 

 

QUESTION 2

Which of the following describes the models contained in the \\'24 Ways\\' book referenced in the BIProfessional
Workshop course? 

A. Framework Manager models that map over an example normalized database, which one mightfind in a
manufacturing enterprise. 

B. Physical, star schema data models for constructing data marts for the various departments in ageneric business
enterprise. 

C. Logical models that contain dimensions and key tactical metrics for the various departments ina generic business
enterprise. 

D. Cognos 8 OLAP Modeler (Transformer) models that describe how to map data from amanufacturing database into a
PowerCube. 

Correct Answer: C 

 

QUESTION 3

You are tasked with administering theCognos BIsystem to perform batch reporting in a waythat maximizes the use of
available system resources. Given the following information, how manyjobs should be created to perform this task? 

480 reports must run 

6 report processes are available 

Each process is configured to use 4 low affinity connections 

A. 20 

B. 24 

C. 48 

D. 12 
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Correct Answer: A 

 

QUESTION 4

Which of the following is a critical component in delivering Corporate Performance Managementthroughout an
enterprise? 

A. Drill down from summary to detailed information within individual subject areas. 

B. Drill across from one subject area to another through conformed dimensions. 

C. Star schema data marts designed to facilitate analysis and reporting. 

D. Event management designed to monitor the status of Key Performance Indicators. 

Correct Answer: B 

 

QUESTION 5

A developer has specified a maximum of two report processes for the application. Whilemonitoring the application, the
developer notices that only one report process is running. 

Which ofthe following would account for this? 

A. The number of affinity connections per BI Bus is set too high. 

B. The configuration size for the application is set too low. 

C. The number of low affinity connections has been exceeded. 

D. The number of report requests is too high. 

Correct Answer: A 
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